PMT rolling gain calibration
& Dark noise



Tdc distribution
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Time goes this way

»Select all hits with Tdc>1050 (Dark noise before trigger)
»Select each channels’ first hits with Tdc<800 (Avoid after pulse)
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Gain

Fit selected dark noise hits

ADC/PE
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Fit all hits
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RO”ing Galn (Run 1678)
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Sometimes the points are jumping, check the corresponding fit plot

h3_0

19.35 £ 0.17
6.424 + 0.188

3001
23.87
21.62

23.1/19
0.2331
164.8 £ 4.5

T T I T T T T I T
| Entries
Mean
150 — RMS
| %2 / ndf
Prob
I~ Constant
- Mean
Sigma
100 —
50 —
o 1 1 ool 1

0 100 200
Channel 0 point 1
T T I T T T T I T T T I T T

i 30 _
B Entries 3001 7
- Mean 23.13 —

18.96
150 = e 2063719 | |
- Prob 0.05674 -
- Constant 160 + 4.5 _

Mean 18.76 +0.18
I Sigma 6.711+0.212 N
100 — |
50 — \ —
O i Il al Il HM A b v M, L Lo o L Il Il ]

0 100 200

Channel 0 point 17

B h3_0

- Entries 3001 —
Mean 23.5
150 — RMS 21.66 ]
L %2 / ndf 16.55/19 —
- Prob 0.6201 i
Constant 158.3 £ 4.5
- Mean 18.65 +0.18 —
| Sigma 6.869 = 0.223 ]
100 — —
50 — —
0 ! L ! ! alfoene] oy g oty ! od ome | d ! b
0 100 200
Channel 0 point 2
T T I T T T T I T T T T I T T
| h3_0 -
Entries 3001
B Mean 23.07 N
L N RMS 18.28 -
2
— %/ ndf 34.48/19 |
150 Prob 0.0161
B Constant 156.3 + 4.4 7
- Mean 19.49 +0.19 -
N Sigma 7.0710.239 i
100 — —
50 — —
0 ! L ! ’L’I!L‘\"J\mhm oo b ney ! Lol L L

0 100

Channel 0 point 18

200




Dark noise
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Time goes this way

»Select all hits with 1070<Tdc<1170 (Dark noise before trigger)
»100*1.5625 ns
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Tdc periodic readout (40 MHz)
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High rate channels
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Summary

* Dark noise is good for Gain (Adc/PE) calibration
* No sign of drifting in gain vs. time distribution

* Higher rate dark noise at top row indicate there is
some light leaking

* There is a mysterious 40M Hz readout for a few
channels



